SAP ABAP table PMEGO {Field String for Feature: Organization for Compensation}

CSKS

MANDT [CLNT (3)]
PMEG60-KOSTL = CSKS-KOSTL _ N KOKRS [CHAR (4)]

P KOSTL [CHAR (10)]

—_

> DATBI [DATS (8)]
/’ TOO1
/,’ PME6GO-BUKRS = TO’O};B,U,K_R_S_ ~0.N | MANDT [CLNT (3)]
K Pt BUKRS [CHAR (4)]
/ Phd .
/ i
; o TOO1P
/ /
/' / PMEG0-BTRTL = TOO1P-BTRTL _ MANDT [CLNT (3)]
/ - ---""770.N
[ - WERKS [CHAR (4)]
/ _ -
;) e BTRTL [CHAR (4)]
I // e g
1 / P 7
', PME60-MOLGA = T500L-MOLGA T500L
I / =TT 0..N
B I MOLGA [CHAR (2)]
I -~
| II // Phd .
(| / P
Lo T500P
.,/ PMEGO-WERKS =T500PPERSA__ « [MANDT [CLNT (3)]
! e PERSA [CHAR (4)]
I _ -
I Il // P
Y e
[ | / s g T501
[ / //
., |, PMEG0-PERSG = T501-PERSG _ 0N e
Lerr) -7 " | PERSG [CHAR (1)]
, i
rer o, -
0..N; DONN(..N T 503K
7 MANDT [CLNT (3)]
.~ PME60-PERSK = T503K-PERSK _ 0_N [BERSK [CHAR ()]
0.N -7
P T513
o MANDT [CLNT (3)]
-~ PMEG60-STELL = T513-STELL _ . 5y |2TELL [NUMC (8)]
0..N - ENDDA [DATS (8)]
on PME60-SACHA=T526:SACHX | 1526
0.N _ PME60-SACHP = T526-SACHX _ | MANDT[CLNT (3)}
8-_-§ _ PMEG60-SACHZ = T526-SACHX _ _8--11:}. WERKS [CHAR (4)]
0-N PME60-VDSK1 = T5270-ORGKY SACHX [CHAR (3)]
0N T5270
~_ PMEG60-ORGEH = T527X-ORGEH (_N |MANDT [CLNT (3)]
S HIRAR [CHAR (1)]
e ORGKY [CHAR (14)]
0..N I T527X
\ =<
'. PME60-PLANS = T528B-PLANS 3 [MANDTCLNT (3)]
. SPRSL [LANG (1)]
! N
OOMN-PI-\-N’\--N . ORGEH [NUMC (8)]
[ | I N
|| |‘|‘ \\ \\ RN - ENDDA [DATS (8)]
\ \ RN
ll ‘:l \\ \\ T~ S o
AN AT T528B
11 \ \ ~
' . PME60-ANSVH = T542A-ANSVH ; 3 [MANDPT [CLNT (3)]
B AN """ | OTYPE [CHAR (2)]
I \ N
b . PLANS [NUMC (8)]
11 N
TR S~ ENDDA [DATS (8)]
(I S
Lo \\ RN
(I i S o N
RN . T542A
Vo T~
N '\ PME60-ABKRS = T549A-ABKRS 1y | MANDT [CLNT (3)]
o " MOLGA [CHAR (2)]
\ \ N
TR o ANSVH [CHAR (2)]
\\ \\ \\ ~ ~ \
\\ S <
h Sl T549A
\ k Tt - - _
\ . PMEG60-OTYPE = T7780-OTYPE 0.N |MANDT [CLNT (3)]
\ \
N ABKRS [CHAR (2)]
\‘\\ =~ AN -
Vo RN
N ~ T7780
! o= -~ -~
AN e - MANDT [CLNT (3)]
| . PME60-GSBER = TGSB-GSBER  0..N
SN OTYPE [CHAR (2)]
\\ N - §
| Sl TGSB
\ - -~ -~
\ .-l MANDT [CLNT (3)]
\_PME60-KOKRS = TKA01-KOKRS ~ V-N r==mp [CHAR (4]
. TKAO1
e MANDT [CLNT (3)]
0.N
KOKRS [CHAR (4)]




